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UP Police Constable 23 Aug 2024 1st Shift Answer Key Unofficial
- FigaH @S ® ?
b R o g 3 R A e g s 270 Rof e g 8, o o e R i |

D) -

(A) Itz (B) zféor D (€)' i ise from faE:ing west at the beginning ?
Which direction are you.facing now, if )?jl turn 270 degrees clockwnsF I () East

(A) North-West (B) South : (C) West ‘

: § 3R 15 Hiex
2. wh e 15 e T B i e W%Nﬂ?m%aﬁt 10 et el 8, foRw Srermar s e

W%I%Wﬁgﬁ%g%? ?3
(A) 20#X ] (B) 18HIX
© 157X o (D) 107X left again and walks
A person walks 15 meters cast, then S left and walks 10 meters, then tums left again an i
15 meters. How far is he from the starting point ?
(A) 20 meters (B) 18 meters
(©) 15 meters (D) 10 meters

eI S sk p il g e Il <t e o dem T aﬂtkﬁmmﬁi&iaﬁ@m%aﬁa 4
HT AR FATE ? o .

(A) 400 (B) 440 © 300 (D) 399
The following pie charts represent the di: ribution of candidates who were enrolled for an exam and the L/

D ey

candidates (out of those enrolled) who passed the exam in different institutes : :
CANDIDATES ENROLLED = 8550 CANDIDATES WHO PASSED THE EXAM = 5700

@&[C%
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5
e et & g g e e |
(A; mwmﬁ?:&wm:m% (B) Sy wray fored e ww & et 2
(C) S v e e 7 4 T © (D) ot frvame o 7t wgam v et

alternatj
Read the statements and select the cOr'fect 1v
Statemeny | . Tray plays table tennis. ,
Statemen; ) . Table tennis is a difficult gamef ]

31

€ regarding the

Conclusion - Tray plays a difficult game.
From the aboye statements, we can conclude that-
(A)  The conclusion stated is probably false i
(C)  The conclusion stated is definitely false {’)

> PR & e sty ey v

*

Sl
v

conclusion.

iR (B) The conclusion stated is definitely true
(. (D) No conclusion can be reached

el
A) frnm ®) e @ © w (D) =
Which of the following shapes is different from the rest?
(A) Triangle (B) Sphere (©) Circle (D) Square
6. PR 9w i 'SCRABBLE’ I ‘19318122125* % wq 3 TS foRar S R, @ sl
‘STUNNED’ﬁ%HWWﬁmW? M

A) 192021141545 (B) 192022141454

48 (C) 192021141454

7. w%ﬁﬁs@ﬁgﬁﬁmﬁmxmfﬁmﬁﬁ%mﬁr%ﬁﬁ
T HEY R 9 o
(A) =& @ B) 0w
© e

(D) =f
Pointing at a woman, Nirmala said, «“g

he is the dau
is Nirmala related to the woman ?

(A) Sister - E;';]] B Cousin

(C) Paternal Apnt [:.] (D) Mother
8. omEmemRFNE? ;;én

What is the next letter ? ' {?.!f’

P:Q::T:__,: LT - e,) o

(A) R B) P © T

ghter of the only son of the mother of my sister,”

‘19318122125’ how will ‘STUNNED? be coded

(D) 192020141545

éa"t%l”ﬁﬁmmmuﬁmé

How
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9. . wﬁ
o SR @ Fs () ofeitd ©)
Curtains are related to fabric in the same way ag p)ip 4 are related to :
(A) Slats ®B) Lifters (C) Cords (D) Covers
Soap is related to Clean in the Same Way as Perfume JS; related to :
(A) Neat (B) Smell (C) Smart (D) Freshness

11, @ T eRr-afim i o e 6 TS § sk 130%3173-@(53%%’@;%%%%“@@(@%

i
t) -
%,

Gse? s

(A) g (B) I [(©) sReur-afzm (D) IT-Em

If you start facing South-West and turn 180 degrees 5 your right, what direction are you facing now ?
(A) South-East (B) North-East Q:( ) South-West (D) North-West

12. 140 ferenfRiEt & weferor 7 wran w76 60 frameff it A S whe @ §, 70 femef wER W G we
A &, 7T 75 Ferermeff oS fim WerT wie w7 § | 3 i 30 ST 3SR 3 sTeeen 3l O TEE
18 =1 hift 1 3ft Sz 1 AT Gt TiE §, 42 0y e i St SRR i A et weE &, o 8 i andt
TR h W TS § | I ST T AT 0 I STt 1 1 7T i et ek S Qe ¥

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additiaﬁa’lly, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to fﬂla the students who play only outdoor games.

(A) 57 (B) 32 {C) 35 (D) 64
13.  sj@e 3 Gu §eTd (A, B) 1 IR 39 B + A 1 0 iR |

Find the missing numbers (A, B) in the series and flE(; the value of B + A.

25, 36,49, A, 81, B, 121. &’:I

(A) 146 (B) 125 Ct(ié) 152 (D) 164
4. IMp>q=p’+PFMp<q=p’-g2M(1>2)<3=

Ifp>q=p*+q° andp<q=p>—q2, then(1>2)<3=

(A) 720 (B) 840 (©) 600 (D) 480
15. mwﬁmﬁaﬁmaﬂtm%ﬁ@}wﬁaﬁmmmm|

RK59#B2%*E?A8LS$I4SV7IC6N@H13D

2 e o &, o e 3 i ek ofe e A T P 8

Examine the following sequence closely and respong):‘to the question that follows.

RK59#B2%*E?A8LSI4SV7!IC6N@E13D

How many letters are there, each of which is ingijediately preceded and immediately followed by a

symbol ? 9?’{;

A) 2 B) 3 {© o D)1



16.

17.

- 18.

19.

20.

Join Telegram Group "HaryanaJobs.in"

R T et 4 e 2 g ‘?’g‘“‘ﬁ"@ﬁﬁ%ﬁmmﬁ,

natio
Given the pattern in the provided coth 15 how Would yqy, express the combination represented

by ‘?’ ? < ‘
AZ3B, CY6D, EX9F, 9 |:|
(A) KXI18L ) NZZIOz © Gwizn (D) IV15J

a%n%mraﬁﬁﬂzﬁa?r%@%@ m“@“ ﬁ"@ﬁw@mmmﬁo

L1, 9, 27,25,125,7, 343

(A) 49 (B) 37 © 22 (D) 34
ﬁw%%aﬁé%am%maﬁsﬁaﬁmmﬁ?

Which of the following words has its lettefs In an alphabetical order 7 |

(A) Collops
o P (B) Envelop§] . (C) Bloops (D) Adrops
meqﬁmﬁﬁqﬁr{ﬁw%ﬁawmwaﬁm
: | Qgﬂ At (o eim
11 [3 —>ﬁa%r«hn
17\ 4
A > fféra dm
ﬁa‘%qﬁaﬁaﬁﬁrﬁw%ﬁmmé
(Aa) 31 ®) 22 (©) 20 D) 16
Examine the provided dlagram and resllol}d to the following question,
. 2
8 Q~)~> Employed people
: o]
11 |3 | (qn— Backward people
17\3| 4
A —> Educated people
How many individuals con51dered backward are not educated ?
(A) 31 _ (B) 22 . (C) 20 (D) 16
0.05, 0.5, 0.25,1.25 ST H&wH HTIEh (HCF) 31 i |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
A) 1.25 - (B) 0.25 (C) 0.05 D
(D) 0.5



21.

22,

23,

24,

25,

26.

27.

Join Telegram Group "HaryanadJobs.in"

' 3eare |
sy Reaifer 8 FI6TT 3
wad I HE i i R 4, 6, 7, 8 3 9g F T Jeaves the remainder 3 in each case.
Find the smallest number which when divided by 4, 6,7, 8 and 9 1€ (D) 504
(A) 501 ' (B) 510 (0 507

111' ' ‘EF-IT% ‘7
afe 30 AT T ST T 40 AT %ﬁmﬂ\w}w% qrem gﬁi}r::n what is the loss percentage ?
If the cost price of 30 tables is equal to the Selﬁil{.g price of 40 tables, D) 30%
A) 25%: (B) 37.5% % (C) 26% §
: o @ . # 5 w1 W H @A @ | 1 T8 Qe
T B fIohell 5 st 7 10 8 4 1 0 3P 3o o arfers SR T 10 ,

20T 9Hr Yy ST ® | 3T BT T ST S g 22 y
(A) TERrTEmy (B) i wfaTd 12%

19,
(C) aﬁgﬁmlg% o ® o ST 127 %

A fruit seller buys some oranges at the rate oﬁi{i for 10 and an equal number?more at 5 for T 10. Then he
sells the whole lot at the rate of 9 for % 20, WIiat is his loss or gain percentage ?

(&) Noloss or no gain %  (B) Loss percent 12%
(€)' Loss percent 11_90/ (: D) Gain percent IQ%
percen 21 ° [J (D) Gainp &

o |
TR F W A v | wfer foram st 21 G R 2 = 17 it fepam <t <2 & weh fivsror ww 6y & Ry
m%wwa@amfﬁﬁm ,

Two types of rice rates are

T 11/kg and ¥21/kg. Find the ratio of the two types of rice to obtain a mixture
of rate T 17/kg.

A) 2:1 (B) 2:3 - (©) 3:1 D) 1:1
12.5% 3 3w iy e v & v b« .

(A) 20§ B) 107§ ‘:l ©) 129§ (D) 8a¥
In how much time will an amount be doubled E‘!the rate of 12.5%, 9

(A) 20 years (B) 10 years . ?’») (©) 12 years (D) 8 years

Wiﬁé%@ﬁ@amaﬁlsoﬁﬁﬁtﬁfm%mzowﬁﬁaﬁ R | 2 50 R 4 S
@-Mm%mwﬁq}mﬁmmwm%mﬁgwmmﬁgm P g

g2 @

Indian Railways employed 200 workers to complete a certain work in 150 days. If only one-fourth of the

work had been done in 50 days, then to complete the whole work in time, what is the number of additional
workers to be employed ?

(A) 300 (B) 200 (C) 100 (D) 600

12 769 3K 18 wfeetd v &m 1 10 Rt f e asd | 93&#3ﬁt}8wwﬁmaﬁ 12 R § g wery
%|wﬁzgwaﬁmq%aﬁ@ms@ﬁmﬁm%ﬁré%ﬁﬁﬁﬁwwmﬁq

(A) s0fA (B) 60 (C) sof d(D; 70 R

: d 18 women can do the same work in 12 days.
12 men and 18 women can do a work in 10 days. 9 men an . ay
If 2 men and 3 women together do the same work, in how many days will they complete the work ?
(A) 50 days (B) 60 days (C) 80 days (D) 70 days

-
- - - -
- - - B T
- -
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. . ey o . i & e A
3 Yemfeat . so fdder 3 32 T & qr feamadt & et § o

Y, e e & ey Al T A A0 W AR g S s e s s et
TS T hifs |

(A) 1247, @) 123 © 1704 (D) 120

e km/hr . in the
Two trains travel in the same direction 3;52‘ h and 32 km/hr and the faster train passes a man 1
slower train in 16 seconds. Find the length ot the fagter train,

(A) 124m (B) 123m © 170 m (D) 120m
67Iﬁawiaﬁz=r1oﬁfmﬁ33mﬁﬁmﬁwmﬁléﬁmssvﬁaéétézﬁﬁqt@%@wﬁﬁﬁm
F | T S gy g S

(A) 5.5%%s (B) 45¥HS ﬁ:ﬁn 6.7 ¥ (D) 8.8 TS

) .
A 67 meters long train crosses a tunnel of length ‘eters in 10 seconds. Find the time for the train to
Cross a man standing on a platform of length 65 meter'j_

(A) 5.5 seconds (B) 4.5 seconds (©) 6.7 seconds (D) 8.8 seconds
ﬁﬁaaaﬁtﬂqﬁamzz1%313%&%@5:3%3&%&@#85{%%@:4:1%a§mﬁmm§mﬁ
ﬁfﬁasﬁtﬂqﬁﬁﬁgﬁrmmmf10,00g§,a‘rm®mﬁ$mmaﬁrm|

Nikhil and Reetu earn in the ratio 2 : 1. They sp_enc!‘i? the ratio 5 : 3 and save in the r?tio 4 : 1. Find the
monthly income of each, if the total monthly savings,af both Nikhil and Reetu together is ¥ 10,000.

(A) ¥2,000,1,000 (B) %8,000,% 4,000 ((©) %28,000,% 14,000 (D) % 10,000, 5,000
T I T O St Sfeman 31 F 20% TW H61 2, 9% s 3iehi & SRV & ST ] | U 3T B

ANIFay it & 30%Wm%,%mﬁﬁézommmm%lmaﬁ%%qw
e TR 2

In an examination, a student who gets
scores 30% of the maximum marks, g
for passing is :

(A) 22% (B) 20% o) 4% (D) 27%
@ﬁfmm&waa&%mmaﬁaém@}mﬂﬂﬁoo%l3a&%mmawm&m
@%mﬁéﬁﬁammﬁﬁm o>

. . . ( ;
The simple interest on a certain sum of money for rwlo years at 5% is T 1,600. Find the compound interest
at the same rate after 3 years, interest compounded annually.

(A) 2,555 (B) %2355 EC) T2,520

12-02-2022 / 11-02-2023 T 15% Yy ad v iy = 73,000 T HTHROr 17 2

The simple interest on % 73,000 at the rate of 15% per annum from 12-02-2022 to 11-02-2023 is :

(A) %13,450 (B) ¥ 14,750 (C) 12,050 (D) %10,950

T 475 3ifehet 3 15% & TR 1 T St el o 2 2

What is the discount on a pair of shoes marked at 3 < 375 and discounted at 15% 2

(A) %7125 (B) ¥75.25 <o) T70 (D) £72

OF THMER O g o 3iford T W 10% it gz 341 & A T2 I 71 W 89 37 oy s v 2 1 A
e fesft 3 wfier ey 36 &9 8 234,020 1 [T el €, T 31T g e 2 9

A shopkeeper allows a discount of 10% on the mz{dtd price of an item but charges a sales tax of 8% on

the discounted price. If the customer pays ¥ 34,0 8(5 s the price including the sales tax, then what is the
marked price ? (&

(A) 39,000 (B) ¥38,000 ‘3c> 34,000 (D) ¥35,000

20% of the maximum marks fails by 5 marks. Another student who
ets 20 markﬂ more than the passing marks. The percentage required

(D) 2,522
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aﬁx\?ﬂt (xio)waﬁgam%?ﬁxzaﬂ'{ FHIIAHA R

L .
If the average of x and ;(- (x#0) is m, then the average of x* and 2
() 2m?-1 (B) 2m’+1 ©) 1-3m? (D) 1-2m
o  SHATTE T e 31 3MEA 132 R, T et affy aifyy g 1 3 1 T |
If the average of 9 consecutive eVen numbers is 132, find the difference between the first and the last
numbers. .
(A) 16 (B) 18 (©) 19 (D) 15
et 3w R e 3 25% 1 31 % oy, qa;mﬁal 2ooﬁ6%mmmaa@ﬁam% | T
a1 wf fera e qea S on ?

As a result of 25% hike in the price of rice per kg, a perE L is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg 9 Ea‘"

A
(A) T50 (B) T60 ©) Tig ; (D) T40
aﬁmwwﬁwﬁaﬁwmﬁm@m%aﬂtmg&@@mmwm%@m%
W@éﬁ)ﬁm% ﬁmmmmm)ﬁmwm?

(4) g RriE) - (B) A @e) () vom ewEEE) (D) m@?r%rm)

If you have a regular icosahedron and you slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? . '

(A)" Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
Ferferfad sjae e dem i e i | []
Identify the incorrect number in the following series. '{:]

4,7,13,21,34 | |1
4) 13 (B) 34 © 752 D) 21
Fom o e ot e e AR
Find out the number of the cubes that are arranged in the figufe given : .,

&)

A\ d [
iif; i
N 5

¢

-

(A) 18 (B 17 (©) 2A (D) 16
aﬁ?ﬂqmwm?ﬂm 78%, ﬁwﬁmﬁa@mw%?

 If the sum of three consecutive even numbers is 78, what is the second largest number ?
(A) 26 (B) 28 - © 24 (D) 30

GWZ-24. Page 8 of 24

- e m e - = - W SR T e e
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g3, Tl
Choose the odd one out,
(*) KL ®) QR Ll © az (D) FG
. sl S A, 2R o A X
Find the mirror image of the figure, if the mirgo;x} is placed at XY,
ths
X H]
‘ )
; &
’
Y
@ @ E»]] ®)
]
5%
)
L
© 35 (D)
@)
45, H@%ﬁﬁgﬁﬁﬁmmﬁﬁm
Find the number of triangles in the figure, [-]
i
)
'ij
A B) 8 &3
A 9 (B) © 12 (D) 16
: - MEAS
46. maﬁaﬁtmmgq@q%m%m,‘mﬁﬁ&ﬁﬁmﬁg,na—gmm%m
Hef R 2
W) ®) i © L ®) - » How is the
Pointing towards Aneesh, a woman said, “Hjg mother is the only daughter of my mother.
woman related to Aneesh ?
ther
(A) Sister (B) Daughter (C) Mother v _(1_3_)_ ffiiffff‘_o ___________
GWz24. T

Page 9 of 24
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47. ar((‘ﬁ"T(l,2,3,4)318“-31?”‘7’?%:‘%%—%,‘3;%1}%3@(@33|mwﬁ5%ﬁ3@3€mﬂqﬁm§

i & e B 7 o 3w st 3 T 3 R e I,maﬁs%aﬁ%ﬁ%aawaﬁs%mﬁ%ﬁ@
g!;; %%: i
(A) 1-30,2 - Fa, 3 -G, 4 -8 i(() | — e, 2 — 8, 3 T, 4 — =

(© 1%, 23w, 3w 4~ (@) 1-%e,2-0,3 -G, 4 i

Four people (1, 2, 3, 4) each pick a di.fferent fruit — apple, banana, cherry and date. The person who picked
the apple is next to the person who picked the banana and not next to the person who picked the date. The
person who picked the cherry is next to the person who picked the date.

The correct combination is :

(A) 1-Cherry, 2 —Banana, 3 —Date, 4 — Apple (B) 1-Banana,2— Apple, 3 — Date, 4 — Cherry
(C) 1-Apple, 2 —Banana, 3 - Date, 4 — Cherry . (D) 1-Banana,2- Cherry, 3 —Date, 4 — Apple

48, mw%mmw(x>ﬁﬁquwq.mw@wmwm%l

Find out which of the figures can be formed frop the picces given in the first figure (X).

-

¢
g

(X)

q

f'_‘z.\

@&

(A) (B) ' © O)

49. ST Ve I Ay

Find the dissimilar numbers, '
(A) 16,25 (B) 49, 81 .r(a) 8,27 (D): 4,9

50, ﬁm%%aﬁ&aﬁq-maﬂ@@znﬁmﬁ,msﬁaﬂt%ﬁmm%mmﬁm%?

Which of the following diagram/set indicates the rel%tél)n between women, mothers and parents ?

*) C@D é) @
ol

&
©) (D)
51 OTR¥E QU i |
T : 7Y AN ;9
@) fr B) dig - ® =
Complete the analogy.
Glove : Hand : : Sock : 9
(A) Head (B) Arm (C) Foot (D) Shoe



Join Telegram Group "HaryanaJobs.in"

T |
- j‘iﬁ?ﬁ?:ﬁﬂmmszm:?
(A) FR (B) TaTS wIET (C) ugss (D) uERra
Complete the analogy.

Astronaut : Spacecraft : : Diver : ? : '
(A) Car (B) Airplane (C) Submarine (D) Bicycle
53. @ﬁiﬁaﬁrmm%%mﬂ%wm@@m(@amuﬁﬁz%mw%mf’mm‘taﬁsr@r-m
(FRIH-HEFTI) T SATHR HT1 ?
() defgm (B) SHfetarer (©) (D) I

A cylinder is intersected by a plane inclined at an angle of (idegrees to its axis. What is the shape of the
resulting cross-section ? .

(A) Ellipse (B)' Hyperbola © PJI—:%]JOIa (D) Circle
\“5
54, zrl%cmanﬁznm%,a’moqmrﬁgw%? QC
If the code for CAT is DBU, what is the code for DOG ? i
(A) EPF (B) EPH (C) DeB (D) EOF
e
55. IS % IER, 37 0, 1,2,3, 4% uW: A, B, C, D, Em%faram% I [(B+E)-(D+ A)] T IR 31
dfe) ,
According to the code, digits 0, 1, 2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of
(B +E)—(D+A)]. :
@ 2 - - B 3 © r (D) -2
56. @ 1Tl A =y At 0 O
What will be the next number in the series ? q
3,6, 18,72, 360, .. O
(A) 2160 (B) 1820 ©) 2@3?0 (D) 1260

57. @:W%@WA,B,C,D,E&%{Fﬁ,&I%HﬁaGﬁ% D U e & ofk E v 2 F, E $I 3t
%aﬁrgmél*C@aﬁa%aﬁtAﬁﬁm%aél B ?| B, Ed R vmwsiig 2 o P
(A) zﬁ. ¢ (B) wmht ©)

. wife. C is a lawyer and married to A. B is not a male
How is B related to E ?
(A) Mother (B) Aunt (C) Sister (D) Father
58. U SR ST e e S g 0
fereher e efter € et o | g
?Wﬁﬂgﬁw%:
&) wuwE ®) M@ © ‘@wm (D) T
59, ﬁw%f@aﬁﬁﬁq-mwm#f%? O
(4) ww (B) ¥TF ©) %ﬂﬂ (D) TWH
60. 1o 3 o e e e 8, Ao w9 ®
(A) daey (B) wETHOT (C) Iwqumr @) W=
N ey e S

Page 11 of 24
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o . S T A I8 '
<§W$@ ® FIE-STE () g () -l

Wﬁﬁqﬁﬂ%ﬁ*‘“ﬁ%?

A) i @) T © m (D) ¥
e T F AT A g 2

() & g fear (B) A9 S{eT <l ST It

() T A g e (D) TSI ST FE( &

‘mﬁwmﬁ’mﬁﬁmmmﬁmmm%?

(A) T B _(© (O dww

Fe oo s R e e T 3 e e s oy 9

@ memeegE ® 2 A (o demma @) SEELCERG)
e & e T 1 A WL RS A |

(A) =:+38 (B) dM:+9s I(j (C) =@ +9% D) T +3%
2019 1 T STFTEH T fohe TR A ey 9

(A) JefREiRe=E  (B) WA Ay Zg (C) Twewrfisy (D) iy fig
T F PR 2 " | eE
(a) fi ®) g () s (D) e

S T T 7 T 7 27 R i

(A) WT FOR T el L (B) e e e

(C) TEaTer BT - U (D) ITEWEF T Y WA BT
ﬁmﬁfﬁaﬁamm‘m’wmwmﬁ%aﬁ%?

&) ® @ - B (© g - (D) &

- T T TR R @) |

@) T . ® = ' E’} © (D) &

A o T e & e A e e R gi) ‘ | )
() TREEE (B) e (C) = EFRT (D) A ygwT
o o 3 ot e vt e areier ¥ g o Wi TaET)

A) = (B) ¥ (C) 3wt (D) 3FHIET

ﬁﬂ%ﬁaamﬁﬁugmm%qﬁmﬁaﬁ]mwﬁhﬁﬁwﬁ?
m—mamam,m '

(A) I, 3T, 31T, 1 . E} (B) 3T, 1, 3T, TG
(C) T, e, 211, s (D) T, 3, M, AE
& T 5 g ) |

(A) mqgﬂﬁmaﬁeﬁa@aqﬁﬁ% (B) T Y s fn, et Y st A < T s



Naaisa s et
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"y (B) ST, et - (© B (D) weime, st
77. < 9w 3 forg vl 312 | |
(a) TR (B) s © TR D) T
78, frmffiad o & ST & Y& Y H = IR ; '
(A) Wﬁmmﬁl (B) Wﬁmﬁaﬁmﬁiﬁ%l
(C) TRAHIHMAE| (D) T & ape onfy &
79, frmEuw e |
@A) (=) o ® © )
80. mwﬁ‘m’mmmmﬁﬁqﬁw%?' ’ o
(A) 3T<3T, H IR | < B
(©) T 3= fhar sy | [::]] ED)) mﬂw‘-ﬁmmy
8l NWETIT % SRR S a¥ @W%l
| (A) A ®) g=ta@m () :
82. IFE R FEARETRR e 7 )
(4) gt ®) fow e '
) C) 5 TR
83. ﬁqﬁ—gﬂ:ﬁ@raﬁq—mwg‘c—vw%? ® © o ) s
(A) ®) af
(C) &y
84. aawéﬁr?ﬁﬁﬁﬁﬁaﬁﬁmwmﬁaﬁw—mm%z o

(A) TFTTT  (B) Gy adae (C) TRradTe

85. ‘I — orer Yroaaqm e _
‘ (&) -3 %q

(D) EvT=T I

®) @ fre

ermr— (D) it - Tt

. N
. ‘mmmiﬁﬁ@wua’ﬁ%ﬁsm%@m.
(A)  TEfter 311 T sy sty . '

(©) et & e B) T e qoa e

87. ﬁ%maqamﬁ’%%wams;% (D) ¥ & Twe s/ = 3 Ry g
(A) W?Tqﬁ (B) U™ © T

88. Pt o 2 v et g * ®)
(A) T (B) 3ireTr ©)

- 89, AU T mifege anel R (D) TSI

W T ® fre U © whw ®) freg

(M. 90| 94 Terivr wgy)



8, et P FT T TELS e e S i et oo e & T | v e i
3| za e I TE Wm%gﬁmqﬁ%aﬂtmmaﬁm%mﬁm%l

Join Telegram Group "HaryanaJobs.in"

oy e 7 S ST | SRR Y g af g A g5l S ST 8, T Fery e o sy

A 1 ST
b e e A GO e e S AT 8, if -
90. o, e, e, e 3t A S @ Fraifira §
EB) ﬁmmnawﬁsnagy;rmﬁ@m
ED; it i ot afafdd &1 T e |
_ﬁpﬁzﬁqﬂﬁﬁlﬁaﬁmﬁmﬁmimwﬁﬁ@ .
O e g g (®) g e e
(©) s T A g o (D) g T I
92. mmmmwﬁﬁaaﬁﬂmﬁﬁ %Hﬁfsq%qm@%,q@ﬁ:
(A) T o o fresees ot @ wenfia 2 | (B) SHEDATHIETE TH TSI @TE |
(€) mém%uﬁmﬁmﬁ%l (D) %%@ﬁmﬁﬁ%wﬁsﬁwm%l
93. n fagmny e fr waivF wEEqUI TR ®
(A) e &1 TR faeR | (B) icefiet Sitam 1 Teamad |
(C) it =t rurEim sfifees fasm | ’ (D) Sitae 1 gatior e |
94. WIS Sfia i TEATGT I & ¥l Teh TR € 2
(A) TEOTAH P EMETHHRG  (B) HIE AT HT R R
(C) witfcrer Sfam-veat t fruttor s (D) ﬁiﬁ-wﬁmnﬁﬁﬁmm
95,

96.

97.

98.

T ST ¥ O B Y 25% A AT | A g Tl 35%@%@\‘1331 ST T8 T 732 F F S, 4 I 36%
FIAET | NS FFA [ FTAT? o

A person sold a horse at a gain of 25%. Had he bought it fo
have made a profit of 36%. The cost price of the horse was :

(A) T1,500 (B) T1,800 (C) T2800 (D) 2,000

gEXAMINATION %! VCZNRMZGRLM & &9 # w@m STl 8, d WRITTEN I o T e
ST 2

If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM

T 1, A SR 105 3 AT 36T WA WR | e A o or 2

In a class, Sambu is ranked 10th from the top and 36th fror{The bottom. How many students are there in
the class ? '

am

£35% less and sold it for % 732 less, he would

(A) 43 (B) 44 (®) 4% (D) 47
K LRl oM, Lfiagad| N, K £13d 2, 5@fs 0, WA A | OFK AT T 2
(&) fa ®) =t © =g (D) WFT

K is L’s wife and M is L’s sister. N is the daughter of K, WH@{}e O is M’s mother. What is the relation of O
toK?
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]
09, e # TS WA 1 KW 6, 24, 120, 720, 3
. I;ind the next number in the series 6, 24, 120, 720,,.~j .

3

’_ (A) 5400 (B) 5040 ;;:;a(C) 5440 (D) 5004

i 100. @ 77E si@er § & foww (@er) Y R : i

i’ Find the odd one out from the given series : [:]

| 486, 482, 478, 474, 472, 466, 462 :’:g
(A) 474 (B) 472 “(C) 478 (D) 466

101. @wsomnﬁﬁ%ﬁnﬁrﬁzsoﬁﬁhﬁaﬁ@mm%,mqﬁmﬁﬁﬁ Y

(A) 4% (B) 6% ©) s D) 73 S

to complete the journey ?
(A) 4 hours (B) 6 hours O 5 hotirs (D) 7 hours

102. Frforie sTgerm 3 q e A 2 9 .

o

What is the missing number in the following seque;x e?
3, 18, 90, 360, 1080, 2160, ,0 "

(A) 360 - ® 0 E)(C) 2160 (D) 1080
103. o & smreh e A 11, 39, 75, 110, | ]

Find the next number in the series 11, 39, 75, 119,‘,3?j .

(A) 181 "~ (B) 191 ‘“S(C) 161 (D) 171
104. 3fE INSECT = JOTFDU, HOUSEFLY %} IPVTFGMZ & &9 & sesrg ST 8, & BUTTERFLY =t
- N
IfINSECT is coded as JOTFDU, HOUSEFLY as IPVTFGMZ, then BUTTERFLY will be coded as :

(A) CVUUFSGMZ  (B) CVUUSGMzF (C) BVUUGMSG (D) GMGUUCVF

105. 3T 95474 Y KGFIF ferarsmar 2, 9 82143 g | T ?
I£95474 is written as KGFIF, then how will 82143%k writen ?

(A) JDCEF (B) JDCFE -XO) JCDFE (D) JCDEF
106. A, B 3Kt C 1 staw awr 60 freitom 2 | o f“Bmsﬁmmsomm%WB
a5 70 foRetim 8, 9 B s as RS 0 Tﬁ% R ot

(A) 21 el (B) 20 freimm 38C) 17 e (D) 18 i
The average weight of A, B and C is 60 kg. If th@:ﬁverage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ?

(A) 2lkg (B) 20kg (©) 17kg (D) 18kg
107. 40 BTAT T T FaT A, 15mm@aﬁaﬁnsm%ﬁn@aﬁ,aﬂtswaﬁi@a@aﬁ%‘m’raﬁﬁ
I3 oft e T Gt Tl ot f dEn

In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

A) 25 .. B) 35 ©) 15 (D) 10

GWZ-24, Page 15 of 24
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orar 7 = forer ot 3 Ry B (RS T ) o iy 2, < €l AT ot (dfiesedh) st o
NN AR S TS
[

]

v.
o

@Mﬁﬁmmaﬁm%m%%@fﬁ%ﬁg%mwﬁwmwﬁqmﬁ%m AT 20%

#

P 1 ST Tt 5T, SNTIZH Tl (T 1R werer et ot oy € st i 2

(A) T4845Fg B) TS24I &% (C) T5802g (D) %5500 FAS

The given pie chart illustrates the various sg_drces of funding (in ¥ crores) that the Public Works
Department (PWD) plans to collect for its Phas%g Projects.

&)

External Assistanc;e
11,486 [:”

Market Borrowing
29,952

To support the project with T 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect ?
(A) T 4845 crores (B) ¥5254 crores (C) 5892 crores (D) T5500 crores
109. Y, XFEAR, A zFsmid 1 aRkp, z ¥ et d o P, Y& frafamad e
(A) ISR (B) <fRvrufyy (C) IR-ufHw (D) aféor.qd
Y is in the East of X which is in the North of Z.If P is in the South of Z, then in which direction of Y is P ?
(A) North-East (B) South-West (C) North-West (D) South-East

GWZ-24. Page16 of24 T TTTTTmmmmss-eemeeen
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frafafaa sae o e de i fif | .
Find the incorrect number in the following series.
1; 12, 144, 1782, 20736

(A) 144 (B) 12 (C) 20736

(D) 1782
Th Igh!  Th Agh T i 39 g, ‘%ﬁ%m%ﬁmﬁéﬁm%%!”a‘@%mmﬁwm
27

(A) e (B) =t ©) frar
Ihtroducing a boy, a girl said, “He is the son of the daughter of the father o

(D) g

f my uncle.” How is the girl
related to the boy ?
(A) Sister . (B) Mother- ) Father (D) Brother
112. 3 ofem i 2o & wew R, @ sy e T s 9
(A) Ry (B) sfEurufipy €) Iwufim (D) Iwe-gd
If West is replaced by South-West, then North wij Y€yeplaced by :
(A) South ‘(B) South-West [@) North-West (D) North-East |
13, % e e e foveh 2 °"§ ,
(A) W | %3) T Uit
(C) ani¥ire sl \ (D) efrae grert
Who wrote “The Scarlet Letter 9 "
(A) Mark Twain (B) Herman Melville
© Washington Irving ) Nathaniel Hawthorne
114, W%ﬁamﬁwaﬁsﬁmﬁmm% m@mﬁﬁmmﬁﬁ‘m’mgﬁm%?
A) Que (B) Iwmmy ) & (D) %ags
Which social media platform has a feature called « eaks” to €ncourage frequent communication between
users ? o
(A) Snapchat (B) Instagram ‘ &b) Twitter (D) Facebook
115. Wa{mmaﬁmmaﬁﬁ&mﬁ? 3
(A) TN (B) ¥ @C) wiefhqw (D) wgwd
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore © Kanchipuram (D) Maduraj
116. ﬁ?ﬁaﬁnmaﬁé(FSB)ww%?
C(A) %ﬁmﬁa%ﬁﬁﬁﬁammm |
(B) %aﬁmé&ﬁ%ﬁ%&'ﬁgﬁrmaﬂw H
(©) aagﬁmm%%ﬁuéﬁ%mmaﬁaﬁ TG e |
(D) Wﬁﬁu@mgﬁfﬁ%%\ x
What does the Financial Stability Board (FSB) do 9~
(A) It provides financial support to developing cduntries.
(B) It manages the foreign exchange reserves of #¥member countries.
(C) Itregulates interest rates for central banks wo! dwide.
(D) It ensures financia stability,

GWZ33 T e
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117. et TS TS o & & T T A1 2

ST ST firen | D) T s

(A) @) Rreardd © weEEE (D)

Who was chosen as the brand ambassador of GST ? -

(A) Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan @) Amitabh Bachchay

118, Frefeiad ¥ & ia-eh e i ST % e i ey 29 ea
A) hegaE  (B) REETE (o) RfeEE (D) HRATH

Which among the following lines is a boundary between France and Germany ?

(A) K-WLine @®) 49 Parallel Line  (C) Siegfried Line (D) Senger Line
119. fader =R wRIRwe™ (DGFT) ﬁ:quam%mm% 9

(A) T&H, Y IR AW IgH HAHT [

S IRELIREISP] ]

() faa e ¥ 0

D) W@mw E;"?v

The Directorate General of Foreign Trade (DGF"nj domes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Enter;ﬁ-l-ges

(B) Ministry of External Affairs o

(C) Ministry of Finance S (=)

(D) Ministry of Commerce and Industry

120. TV Sl <k IeATEH o T -9 aet STTawash & 9

&) fafe B) TEFH () FE (D) i

Which element is essential for the production of E\.]clear energy ? |

(A) Silicon (B) Hydrogen - (C) Carbon (D) Uranium
121. TS I S o o ot 3 sy stmar & 2 E]

(A) TI<IR ] (B) wyu

(©) mfsemare O (D) g

NOIDA comes under which district of Uttar Pracil_jh ?

(A) Bulandshahar - o} (B) Mathura

(C) Ghaziabad : ' @) (D) Gautam-Buddha Nagar~
122. fqu s Reqwammnsmarg e

(A) 3 (B) 15 3 (C) 10 3FagsT (D) 9 3T

When is World Post Day celebrated ? :

(A) 3%0ctober  (B) 15MOctober Ol (€) 10" October (D) 9™ October
123. ST 2024 TH WA EIAEFI@HL? (] -

&) FEAd ® waafie ] © FemRw () s

Who heads the Union Ministry of Home Affairs g&:of June 2024 ?
(A) NarendraModi  (B) Rajnath Singh (7) (C) Nityanand Rai (D) Amit Shah

124. 3T v w e i e fra ad H g oft 2 g
The Indian National Congress was founded in w@h year ? .
(A) 1905 (B) 1947 (C) 1857 (D) 1885

—-"
- - e = e - i e L R
—— -



125. TG 1 TG STS ITgel et wt R o ? _
(A) HEHE (FTR) El] (B) = (Ferd)
(©) feest | o (D) FerHAl (IeTehin)
Where was India’s first airport located ? CJ
(A) Madras (Chennai) [[] (B Bombay (Mumbai)
(C) Delhi Oii (D) Calcutta (Kolkata) /
126, T H =qa@rE! & forg, Famed 2, GSTW%%QQWW @ w9
(A) T207@ (B) Ts50WT@ (€) T5a™@ (D) T109mE
What is the threshold limit for GST registration for businesses in India, for services ?
(A) T20 lakhs (B) ¥ 50 lakhs [l (C) T5 lakhs (D) %10 lakhs
27, et s areh oftet v, o5 T T B SR S a7 S S
el e i e ) 3 fore e ST | D |
@A) wsfsiim - (B) FRfHRW & ) veN (D) fafiim
uses images with malicious files in thEljl meant to help a hacker steal your account information
or infect your computer. . o)
(A) Image phishing - (B) Catfishing @& (C) VPN (D) Smishing
128. TR RIS i TS 18 2
(A) Afmen A (B) HEME (C) SR | (D) TEH
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik [j © Zagreb (D) Amsterdam
129. Wﬁa@ﬁmwmmaﬂaﬁ&wgvﬂﬁm% ?
T @A) wwmﬁwmmwﬁﬁmm@@mwﬁmmﬁl
(B) T I Haw i dgaR el ()
(©) e STt A ETE o ALE e wEAr A R |
(D) IE &1 I ST Y AT a1 ¢ | °@f§ ,
In what ways does information sharing become important in fighting terrorism ?
(A) It allows terrorist organizations to coordinate attacks more effectively through security agencies.
- (B) Itimproves relations with other countries. :
(C) Tt allows authorities to identify potential threats more quickly.
(D) It strengthens the military’s capabilities.
130. m%ﬁa@%ﬁ%&raﬁ“w@ﬂﬁwﬁr 35 T Y AT SRR 2 /
(A) =R (B) LM (C) AUt (D) S
Which of India’s neighbouring country is known as the “Land of Thunder Dragon” ?
(A) Myanmar (B) Bhutan - (C) Nepal (D) Bangladesh
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131, R i & .o aee S w78 R 2

(A) I=TH ® T o (C) Zfaex (D) %ET®
Which of the following is ot a Social Medial Platfor, 9 -
. (A) Instagram B) Gpogle é]l (C) Twitter (D) Faceboo
132. Wﬁ%%mwwmﬁﬂ?@@ﬁﬁwﬁ%?
(A) I B) S QO (© wfrwgm (D) it ST
Which of the following types of pollution is

qultural (accelerated) eutrophication ? .
(A) Soil pollution (B) Water pollutimﬂ (C) Noise pollution (D) Thermal pollution

®

133. 1946 ¥ foregsfiartor & SR RBI & T AT & 9
(A) 3BTRS | (B) wifvhenid T
() feiamor g v (D) <. geam

Who was the Governor of RBI during the demonetization in 1946 ?
(A) Urjit Patel (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (D) D. Subbarao

134. Wéﬁmmﬁq—mmm%ﬁﬁa@m&m%?,

(A) WV (B) wmv X (0 wmn (D) MW
Which part of the Indian Constitution deals witp the Directive Principles of State Policy ?
(A) Part1Vv (B) PartV 0 © rartn (D) Part III
o
135. Te0h ‘T ew fereretie” fopers gmr vt s ot @)
(A) eI Yew - (B) giw et Frrem
(C) uerRH auf (D) Aferefteror Ty

The book ‘A Life Misspent’ was written by ivhom ?
(A) Jawaharlal Nehry

(C) Mahadevi Verma

136, 3TTHT % et 1 e o

|
(A) W%Wm@%mmm@ﬂm
(B) ﬁammmﬁw(ﬁ@m’) O
C€) Saawfaufefy 0
(D) 3T & =TT et wehreT =7 Svrgivgey ol
The main reason for the blueness of the sky is@)

(A) the scattering of sunlight by air molecules
(B) the scattering of white light

(©) the presence of water vapour
(D)  the absorption of blye light due to the air

(B) Suryakant Tripathi ‘Nirala’
(D) Maithilisharan Gupt

137. mgwm,ﬁqwmﬁﬁﬁm‘éw,maaéa%ﬁ?

A) frre ' (B) @ Fm © gedm ) =

Raman Subba Row, who passed away recently, was associated with which sport ? ke

(A) Cricket (B)_ Table Tennis e N A——
GWZ-24. TTTTTTTTIIemeRto
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NEIECEIE e S

(&) ety ®) Fom (©) e @) T

What is the name of the longest river in Peninsular India ?

(A) . Godavari (B) Krishna (C) Mahanadi (D) Narmada
139. NHRCHI i sq g

(A) e TR e s, s 7]

(B) et T TR Fefter, < <]

(C) 9Vt e e e, 2R n

(D) I RO TgeE Fftem, s op

What is the full form of NHRC ? N

(A) National Humanity Rights Commission, Indja
(B) National Human Righteous Commission, Ihl 3
(C) National Human Rights Commission, India ()
(D) Natural Human Rights Commission, India

140, T 1985 Tl HH-TT Ay o SRt R v o1 2
A) == (B) wfear ©) 3w

©) T
The year 1985 was declared as the International Year of
(A) Children (B) Women (©) Blind (D) Youth

141. mwmﬁmm%%mmmwmmﬁﬁamwmﬁ
AT Tl | N B
(A) TP [;3 (B) TP
© W ) T

research methods allow for in-depth aES further probing and questioning of respondents based
on their responses. o
(A) Mixed @)(B) Qualitative
". (C) Action

(D) Quantitative
142, BRIFT Qi &TaI1E 2

(A) szt RRe
(C) e te e shfmfea
What is the full form of BRI ?

(A) Beltand Road Initiative : (B) Basic and Road Initiative

[:](D) Belt and Republic Industry

_ fafire st it e g e e s v & R Red amaR
(A) i (B) T fERim ()©) it (D) s

tries to trick specific individuals[iﬁto jeopardizing the security of the organization they
work for. 638

(A) Spamming

(B) =Rt dg U shRefea
(D) oiee U Pufeerr se:

(C) Belt and Resource Initiative

143.

(B) Spearphishing (C) Cyberstalking (D) Sneaking
Page 21 of 24
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144, TR SR Tt Ry i e S RS ot 2

D) #2002
st 2004 (B) SR 2004 (C) T 2000 (D)

A . .

iVlzcn was the first ever National Agriculture Policy announced ? (D) March 2002
(A) March 2004 (B) January 2004 (C) July 2000

145. A SFiTe ST HEET 36 S 2 Ry apes g AR ST 1 € U AFEE
. g R whereenfa e |

The United Nations Commission on Hum
Council for the enforcement of internation

(A) 2006 (B) 1998

i i ight
an Rights wag replaced with the United Nations Human Rights
al human rights law in the year

[© 2000 (D) 2001 .
146 ST e A A T e e

(A) frem S (B) Sfrr Sy l(c! ©) Wt (D) EEH
Who is the first person to run across Aftrica ? *
(A) Sisay Lemma (B) Kenenisa Bekele [*] (C) Dennis Kimetto (D) Russ Cook

il
147. mﬁm%ﬁwﬁmmﬁmﬁ@mmmw%mmmﬁ
EIHEIE Y
(A) =ER (B) iRy (C) wmhrEm (D) wifF=e
The Indian Agricultura] i

Research Institute hag demanded legal action against which country for cultivating
basmati varieties protected in India ?

(A) Myanmar (B) Bangladesh [] (C) Afghanistan

(D) Pakistan
148. FHar waﬁamam:ﬁa{\aﬁ T ﬁam%%ﬁmm% ?
v 8)
(A) WERTY (B) TR £+ (C) e gy (D) 3w
Which Indian state is known for its unique ‘Warli(['.%aintings ?
" (A) Maharashtra (B) Rajasthan t;is (C) Madhya Pradesh (D) Odisha
()
149, ‘W’@Wﬁmm%%ﬁwmmm%%ﬂwﬁﬁzﬁ ?
(A) &t (B) e (©) SETmS (D) Irorey
“Chikankari» is a traditional embroidery style that originated in which city of Uttar Pradegh, 9
(A) Lucknow (B) Noida

[-1(©) Prayagraj
«‘l
150, FRTRITRIS e s srerfies s v 2 9 ]

(A) Fel-srer 2wt Co, wr vty bh (B) e o feer

©) e et gy () (D) wot-vret s e 3 g

What is the Primary cause of ocean acidification F‘l
(X3 . .

(A)  Absorption of CO, by sea-water ) (B) Oil SPl“S.

(©) Overfishing " (D) Increase in sea-w

(D) Varanas;

ater temperature
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